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H urlcnenr iln npre4rtln cnoprutx
Vll naaAruurn aepo6uxufrn urrruee
roMLleeH 3oxr4oH 6afiryynax tyxail

Mouron YncurH 3acar 3axilpraaHbr, Hyrar ,qeacrepuilH Herx, ryynril y4t4pAnarblH

tyxah xyynrarlH 33.5, Tecenfiu ryxah xyynui,tn 16 4yraap syfinrailH 16.5.5, 41 nyrsep
syrlnrrrrln 41,2.2, Mouron Yncurn Epenxrarlner.,tilrZH 2015 oaat 144 Ayreep 3apnt,tr, 3acrrilH
ra3pbtH 2009 oHur 05, 2017 onur 289 Eyroop rorroonyy4, Hrilcnenvfia 3acar AaprblH
2013 oHur 4/333 Ayraap 3axilpaMx, HurlcnenrarZH 3acar Aapra 6eree,q Ynaan6aarap
xorbrH eaxnparvnrlH 2016-2020 oHbt yr4fl axilflnaraaHbr xeren6ep, eguilu 3acar,
unhrvrr,thr 2018 oH,q xerxyynox yHEceH qrrnonuilr eopwnloop TYIIJAAX Hu

1. Hraftcnenvtitn rapre4nrZH cnoprbrH Vll naagrr,rurn aepo6nxvihl luilruee reuqeeHnilr
2018 onur 1 1 gyreep capbtH 06-07-nur e4pyyge4 "SyRttt-Yxaa" cnopTblH opAoHR 3oxl4oH

dailryyncyrait.

2. Teruqoenuilr aoxnoH OailryynaxaA luaapgariqax recehftr Hor4yroop, uryyrvguilH
6ypen4exyyHuft r xodp,qyraap xaBcpanraap ryc ryc 6arancyraft .

3. TenlrqeeHrilr soxr4on 6ailryynaxaA ruaapparAax 6.400.000 /3ypraaH car AepBeH
3yyH rusnran/ rerpernilr Hrilcnenrila'Huittniln Sraetafin raMilp, cnoprbtH xopooHbl

cnoprbtH ypangaaH ToMr.loeHI iA tecauilH 3apAnaac rapraxbtr HrffnaH 6oAor''l

4. TsrvrlseHrarZ ypu4qr4rcaH 6enrrenuir cafirap xaHrax, 3oxtloH OafiryynanrutH
eHgep xeMxeeHA nByynaxbtr Hniltwhn lwenhn raMilpbrH xenxnufiH xeflTec /A.SonAruaa/-
r yypor 6onrocyrail.
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H nrZcnsnrfi n nprepnrln cnoprurn
Vll naaguurn aspo6nxurlH urruee
TeMUeeH 3oxr4oH 5afiryynax receB

Ng 3ap4nurn nep
Hufir 4yn

lrerl

1.

TaurpvgurH r.t.tarHan:

19 x 2 x 50.000 rer = 1.900.000 rer
19 x2 x 40.000 rer = 1.520.000 rer
19 x2 x 30,000 rer = 1.140.000 rer

4.560.000

2.
LJJyyrvgrraH axnbrH 3ap,qan :

/5 xyn x 2 egep x 50.000 rer/ 500.000

3 Oprenltx<nen 100.000

4. Me.qanu 1 .140.000

5. AHouc, rlonlt 100.000

EYH: 6.400.000
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